Test Series: September, 2023
MOCK TEST PAPER- 1
INTERMEDIATE GROUP - I
PAPER - 6: AUDITING AND ASSURANCE
Time Allowed - 3 Hours Maximum Marks — 100
Division A- Multiple Choice Questions

Case Scenario 1 carries 10 Marks
Case Scenario 2 carries 10 Marks Total 30 Marks
General MCQs carry 2 Marks each

Case Scenario 1

Following is the extract of information taken from financial statements of AAF Private Limited for the financial

year 2022-23: - (All Figs in tables are in T 000s)
Particulars 31/03/23 31/03/22
Paid up share capital 75000 75000
Long term borrowings 24500 30000
Short term borrowings 55000 50000
Other current liabilities 350 550
Property, Plant and Equipment 48500 56000
Depreciation 7500 9500
Profit/(Loss) after tax (5000) (6000)

Assume that there are no taxation adjustments.
The schedule of short-term borrowings reflects as under: -

Particulars 31/03/23 | 31/03/22
Loans repayable on demand from MMT Bank (secured)

(Cash credit limit against hypothecation of stocks guaranteed by all 55000 50000
directors)

It has been further noticed during the course of audit that quarterly statements filed by company with its bank
for availing cash credit facilities of ¥5.50 crores during the year vis-a-vis books of accounts reflect following
details: -

Period ending Value of stocks as per | Value of stocks per

quarterly statements | Books of accounts
30.6.22 80000 70000
30.9.22 70000 65000
31.12.22 85000 70000
31.3.23 80000 80000

4
It has also been noticed that long term borrowings consist of a term loan from MMT Bank. Term loan
outstanding has reduced in comparison to last year. However, during the year 2022-23, company has not
paid one instalment of T 5 lakhs on time which is overdue for 65 days as on balance sheet date. The credit
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facilities have been classified as Standard assets by the Bank in accordance with prudential guidelines of
RBI.

Other current liabilities as on 31/3/23 include TDS payable of T 1.00 lac (out of which ¥ 0.60 lac for month of
Feb 23 was due for deposit on 7.3.23). The balance Rs 0.40 lac pertains to month of March 2023.

You are part of engagement team conducting audit of AAF Private Limited. As part of assigned work, you
are also responsible for providing information/input to your senior for reporting under CARO, 2020 for financial
year 2022-23.

Based on above, answer the following questions:

1.1 Considering description about short-term borrowings in the case study, which of following statements is
in accordance with CARO, 20207

(@) The statutory auditor is required to provide details of differences in quarterly statements filed with
bankers with its books of accounts.

(b) The statutory auditor is required to provide details of differences only in respect of those quarterly
statements where there is discrepancy of more than 10% as compared to its books of accounts.

(c) The statutory auditor is not required to provide details of differences as reporting requirement is
triggered only when working capital limits have been sanctioned in excess of ¥ 10 crore during any
point of time of the year.

(d) The statutory auditor is not required to provide details of differences, as at end of year, books of
accounts are in agreement with quarterly statement filed.

1.2 The company has not paid one instalment of ¥ 5 lakhs on time which is overdue for more than 65 days
as on balance sheet date. Identify likely correct statement in this regard in relation to reporting under
CARO, 2020: -

(@) The account has not become NPA as on 31.3.23. Hence, there is no reporting requirement.

(b) The reporting requirement is necessary only when company is declared a wilful defaulter by Bank.
In the given situation, there is no reporting requirement.

(c) Amount of default along with period of default is required to be reported.

(d) The reporting requirement is necessary only when company has diverted amount of term loan for
some other purpose. In the given situation, there is no reporting requirement.

1.3 Asregards TDS payable of ¥ 1.00 lakh included in other current liabilities, what input would be provided
by you to your senior for reporting under CARO, 20207

(@) TDS payable of ¥ 1.00 lac in financial statements shall not be reported as it does not meet
necessary reporting requirements.

(b) Iltisin nature of undisputed statutory dues. Hence, outstanding amount of ¥ 1.00 lac not deposited
is to be reported. It has also been noticed that long term borrowings consist of a term loan from MMT Banl

(c) Itis in nature of un&‘é}?ﬁ?&&*iE%f&?&rge&’b‘SS.dHB\ﬁé’\’/‘é‘??QBRPo@té?éﬁéﬁﬁaraHSWﬁt"Sf’ %d?.%‘@ e par 2022-23, comy

deposited is to be ré)r%gté)&e instalmént of ¥ 5 lakhs on time which is overdue for 65 days as on balance sheet dat

(d) TDS payable of T 1.00 lac does not fall under meaning of “undisputed statutory dues”. Hence there
is no question of reporting.
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1.4 Which of following is not a reporting duty of statutory auditor regarding Property, Plant and Equipment
reflected in company’s financial statements under CARO, 20207

(@) whether the company is maintaining proper records showing full particulars, including quantitative
details and situation of Property, Plant and Equipment

(b) whether Property, Plant and Equipment have been physically verified by the management at
reasonable intervals; whether any material discrepancies were noticed on such verification and if
so, whether the same have been properly dealt with in the books of account

(c) whether Property, Plant and Equipment have been physically verified by the auditor during the
year; whether any material discrepancies were noticed on such verification and if so, whether the
same have been properly dealt with in the books of account

(d) whether tittle deeds of all immovable properties (other than properties where company is lessee
and lease agreements are duly executed in favour of the lessee) disclosed in the financial
statements are held in the name of the company

1.5 The company has reflected losses in its financial statements for year 2022-23 and 2021-22. Which of
following statements is likely to be correct in this regard while reporting under CARO, 2020 for year
2022-237

(@) Losses reflected in statement of profit and loss for year 2022-23 and 2021-22 are required to be
reported under CARO, 2020.

(b) Loss reflected in statement of profit and loss for year 2022-23 is alone required to be reported
under CARO, 2020.

(c) There is no requirement to report losses reflected in statement of profit and loss under
CARO, 2020.

(d) The company’s losses reflected in statement of profit and loss in financial year 2022-23 and
2021-22 are less than prescribed percentage threshold limit of paid- up capital. Hence, these are
not required to be reported. (5 x 2 =10 Marks)

Case Scenario 2

Sookrit, a CA student, has decided to participate in “Mega Conference of CA Students” being organized by
Student Skills Enrichment Board, (Board of Studies-Operations), ICAl to be held in a city in South India. He
has decided to try his luck for presenting a paper in one of the technical sessions of the conference on the
topic of “Nature, Objective and Scope of Audit”. He has to first submit for approval a soft copy of the paper
to the competent authority.

While preparing a draft for the presentation, he has included some paragraphs on the topic. Para A requires
filling of certain gaps to explain nature of auditing to prospective audience at the conference. Para B and C
have certain misleading and false statements which need corrections. Para D needs certain elaborations.

Para A

An audit of financial statements provides _ __assurance to the users of financial statements. It is

a ___level of assurance but it is not __assurance. The auditor has to see effect of

misstatement(s) __ _. Misstatements in financial statements can arise due to frauds or or both.
4

ParaB

Audit of financial statements should be organized adequately to cover all aspects of the entity relevant to the
financial statements being audited. The auditor makes a judgment of reliability and sufficiency of financial
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information by making a study and assessment of accounting systems and internal controls. He also carries
out appropriate tests and procedures. Due to professional training and knowledge acquired by auditor, he
can authenticate genuineness of documents. However, he is not expected to perform duties which fall outside
his domain of competence. Auditor is not an official investigator.

Para C

The process of audit suffers from certain inbuilt limitations. Inherent limitations of audit may arise due to
nature of financial reporting, nature of audit procedures and need to strike a balance between reliability of
information and cost of obtaining it. The information being relied upon by the auditor cannot lose its reliability
due to historical nature of financial information presented in financial statements. However, future events may
affect an entity adversely.

ParaD

The chief utility of audit lies in reliable financial statements on the basis of which the state of affairs may be
easy to understand. Its basic nature lies in providing assurance i.e., confidence to users of financial
statements. Apart from this obvious utility, there are other advantages of an audit. Some or all of those are
of considerable value even to those enterprises and organizations where audit is not compulsory.

Try to help him by answering the following questions: -

2.1 ldentify appropriate words to be used in blanks to make the sentences meaningful and relevant in context
of theme of the topic.
(a) absolute, high, complete, individually, uncertainties
(b) reasonable, high, complete, in totality, errors
(c) reasonable, moderate, low, in totality, errors
(d) moderate, low, complete, individually, judgments

2.2 After reading Para B, which of following statements is false as regards scope of an audit of financial
statements is concerned?

(@) Audit of financial statements should be organized adequately to cover all aspects of the entity
relevant to the financial statements being audited.

(b) The auditor makes a judgment of reliability and sufficiency of financial information by making a
study and assessment of accounting systems and internal controls.

(c) Due to professional training and knowledge acquired by auditor, he can authenticate genuineness
of documents.

(d) Auditor is not an official investigator.

2.3 After reading Para C, which statement needs to be corrected in draft regarding inherent limitations of
audit?

(@) Inherent limitations of audit may arise due to nature of financial reporting, nature of audit
procedures and need to strike a balance between reliability of information and cost of obtaining it.

(b) The information being relied upon by the auditor cannot lose its reliability due to historical nature
of financial information presented in financial statements. 4

(c) Future events may affect an entity adversely.

(d) The process of audit suffers from certain inbuilt limitations.
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2.4 Para D states that an audit provides advantages of considerable value to enterprises. Which of following
is not one of advantages of an audit of financial statements of a listed company?

(a) It acts as a moral check on employees.

(

b)
(c) Its chief advantage lies in safeguarding financial interest of management.
d)

(

2.5 Para D states that audit can be of considerable value even to those enterprises where it is not
compulsory. In context of companies in India, which of following statements is correct in relation to
Companies Act, 2013?

It acts as an appraisal function.

It is useful for settling trade disputes for higher wages or bonus.

(@) OPC and small companies are exempted from audit.

(b) OPC, small companies and section 8 companies are exempted from audit.

(c) Forall companies in India, except Section 8 companies, audit is legally obligatory.

(d) For all companies in India, audit is legally obligatory. (5 x 2 =10 Marks)
General MCQs
1. Which of the following statements is true regarding financial statements of a bank?

(a) Financial statements of a bank are to be prepared in accordance with Third Schedule to Banking
Regulation Act, 1949.

(b) Financial statements of a bank are to be prepared in accordance with Schedule Il of Companies
Act, 2013.

(c) Financial statements of a bank are to be prepared in accordance with Schedule Il of Reserve Bank
of India Act, 1934.

(d) Financial statements of a bank are to prepared in accordance with format prescribed by Comptroller
and Auditor General of India.

2. Which of the following is not a likely purpose of audit documentation?

a) It helps to show that audit was conducted in accordance with requirements of SQC 1.

b) It serves as a record of matters of continuing significance to future audits.
)

c) It assists engagement team to plan and perform the audit.

(

(

(

(d) It can directly help auditor in expanding client base.

3. To evaluate the Internal Control of Kingsway Limited, a team member of the auditors used a method
according to which, number of questions relating to internal control of the company were required to be
answered by the employees of the company. After obtaining the answers there was a discussion relating

to those answers between team member of the auditor and employees of the company for a clear picture.
State the method of evaluation of internal control as discussed above.

(@) Narrative record

(b) Check List 4
(c) Internal Control questionnaire
(d) Flow chart
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The term Internal Financial Controls (IFC) basically refers to the policies and procedures put in place by
companies for ensuring:

(i)  Reliability of financial reporting

(i) Compliance with applicable laws and regulations
(i) Safeguarding of assets.

(iv) Effectiveness and efficiency of operations

(v) Prevention and detection of frauds

Which statement is correct?

(@) (i),(iiyand (iv)

(b) (i), (iii) (v) and(ii)

(c) (i), (ii),(iii) and (iv)

(d) (i), (i), (iii),(iv)and (v)

Financial statements of a company have been put up for audit before the auditor. On going through
financial statements, he wants to verify some major bills debited in “Machinery repair” account. The
purpose of it is to ensure that bills are entered correctly and their classification is proper.

As regards verification of bills debited in “Machinery repair” account, identify what he intends to perform?
(@) Tests of Controls

(b) Tests of transactions
(c)

(

d) Risk assessment procedures

Tests of balances

The securities premium account may be applied by the Company for which of the following purpose:

(@) payment to creditors for material

(b) purchase of fixed assets
(c) repayment of loans
(d) writing off the preliminary expenses

o _ may be defined as the information used by the auditor in arriving at the conclusions on
which the auditor’s opinion is based. It includes both information contained in the accounting records
underlying the financial statements and other information.

(@) Audit procedure
(b) Audit evidence
(c) Audit plan

(d) Audit programme

While auditing the books of accounts of Mehra Limited for the financial year 2022-23, the auditor of the
company used an audit procedure according to which complete documents andjrecords of the company
were checked in detail in order to obtain audit evidence. Explain the audit procedure used by the auditor
of company.

(@) Recalculation
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10.

(b) Analytical Procedures
(c) Inquiry
(d) Inspection

During the audit of sales, the auditor found that recorded sales represent goods which were ordered by
valid customers and were dispatched and invoiced in the period. The auditor is addressing which of the
following assertions:

(@) Occurrence
(b) Measurement
) Cut-off

(d) Accuracy

(c

ABC Ltd is engaged in manufacturing of fabrics from yarn purchased from different suppliers.
Occasionally, it also manufactures fabrics tailor made in accordance with requirements of certain mills
from yarn received from these mills. ABC Ltd raises bills of its labour charges only on mills for converting
yarn into fabrics. The auditor of ABC Ltd tries to ensure that stocks of the company as at year end do
not include stocks pertaining to these mills. Which assertion auditor tries to verify in above situation:

(@) completeness

(b) Occurrence
(c) rights and obligations
(d) cut -off (10 x 1=10 Marks)

Division B- Descriptive Questions
Question No. 1 is compulsory.
Attempt any four questions from the Rest.
Total 70 Marks

Examine with reasons (in short) whether the following statements are correct or incorrect: (Attempt any
7 out of 8)

(i)  When inventory under the custody and control of a third party is material to the financial statements,
the auditor cannot obtain sufficient appropriate audit evidence regarding the existence and
condition of that inventory by taking written representation from management.

(i)  While auditing the books of accounts of XYZ Ltd., the auditor of the company was involved in
examining records and documents in paper form, electronic form etc. and was also conducting
physical examination of assets. In the present case, audit procedure used by the auditor is known
as “Observation”.

(i) The overall audit strategy is more detailed than the audit plan.

(iv) Dividends are recognized in the statement of profit and loss only when the amount of dividend can
be measured reliably.

(v) Banks recognize income on Non-Performing Assets on accrual basis.

(vi) With reference to General IT control, the objective of Data Center and Network Operations is to
ensure that systems are developed, configured and implemented to theet financial reporting
objectives.

(vii) An Auditor is considered to lack independence if the partner of the audit firm deals with shares and
securities of the audited entity.
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(viii) The first auditor of a Government company can be appointed by the Board of Directors within 30

days from the date of registration of the company. (7 x 2 = 14 Marks)

Discuss the following:

(a)

Professional skepticism refers to an attitude that includes a questioning mind, being alert to
conditions which may indicate possible misstatement due to error or fraud, and a critical
assessment of audit evidence. The auditor shall plan and perform an audit with professional
skepticism recognising that circumstances may exist that cause the financial statements to be
materially misstated. Explain giving examples. (4 Marks)

As per SA-315, “ldentifying and Assessing the Risk of Material Misstatement through

Understanding the Entity and Its Environment”, the auditor shall obtain an understanding of the
relevant industry, regulatory and other external factors including the applicable financial reporting
framework. Explain giving examples. (4 Marks)

SA 560, “Subsequent Events” deals with the auditor’s responsibilities relating to subsequent events
in an audit of financial statements. Financial statements may be affected by certain events that
occur after the date of the financial statements. Many financial reporting frameworks specifically
refer to such events. Explain those events and also define subsequent events. (3 Marks)

While it is true that companies can benefit immensely from the use of data analysis in terms of
increased profitability, better customer service, etc., analyse various functions that can be
performed even by the auditor also using Data Analytics tools and techniques in the audit process
to obtain good results. (3 Marks)

Significant risks often relate to significant non- routine transactions or judgmental matters. Non-
routine transactions are transactions that are unusual, due to either size or nature, and that
therefore occur infrequently. Judgmental matters may include the development of accounting
estimates for which there is significant measurement uncertainty.

In context of significant risk, explain the factors to be considered by the auditor in exercising
judgment as to which risks are significant risks. (4 Marks)

XY & Co, a firm of Chartered Accountants, consists of 2 partners. The firm already holds
appointment of 40 company audits. The break-up of same is as under:

Particulars Number of
companies
Listed companies 2
Unlisted public companies 30
Small companies 2
OPC
Private companies having turnover of more than %100 crore. These 5
companies have up paid-up share capital of ¥15 crore each.

The firm is offered appointment of two more companies, the details of which are as under: -
Particulars Turnover Paid-up share capital
CSK Private Limited 360 crores . 105 crores
TMK Private Limited 345 crores 110 crores

Discuss whether XY & Co., can accept appointment of two more companies stated above.
(4 Marks)
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Understanding the entity and its automated environment involves understanding how IT department
is organised, IT activities, the IT dependencies, relevant risks and controls.

Explain stating the points that an auditor should consider to obtain an understanding of the
company’s automated environment. (3 Marks)

KZRG Private Limited, engaged in business of manufacturing of tea in Assam, is registered as
small enterprise under Micro, Small and Medium Enterprises Development Act, 2006. Such
manufacturing business falls in “non-regulated” sector. The turnover of company for year 2022-23
was ¥ 48 crore. Is the company required to maintain cost records for year 2023-247? Discuss.

(3 Marks)
Discuss any four examples of circumstances where the auditor may consider it necessary to include
an Emphasis of Matter paragraph in his report. (4 Marks)

Bansal Yarns Ltd is engaged in manufacturing and trading of yarns of different types. Its huge
funds are locked up in account receivables. Moreover, Management of Bansal Yarns Ltd is worried
about its Internal Control system over receipts from account receivables and other receipts.
Management wants to understand from you as an auditor few techniques as to how receipts can

be suppressed resulting into frauds and finally incurring losses. (4 Marks)
State assertions that are implied in the extract of financial statement given below:
()
Plant and Machinery (at Cost) 4,00,000
Less: | Depreciation:
Up to Previous year 1,40,000
For the year 26,000 1,66,000
2,34,000
(i) Indicate different assertions in respect of account balances at period end.
(i) State specific assertions relating to the above extract of financial statement. (6 Marks)
What is tolerable misstatement and total rate of deviation? (3 Marks)

G & Associates are the Statutory Auditors of R Ltd., a company engaged in the business of
manufacturing of blankets. The auditor has completed the audit and is in the process of forming an
opinion on the financial statements for the F.Y. 2022-2023. CA L, the engagement partner, wants
to conclude that whether the financial statements as a whole are free from material misstatements,
whether due to fraud or error. What factors he should consider to reach that conclusion?

(4 Marks)
Discuss the audit procedures generally required to be undertaken by the auditor while auditing
Goods sent out on Sale or Return Basis. (3 Marks)

The auditor obtains an understanding of the information system, including the related business
processes, relevant to financial reporting to gain insight of this important component of internal
control. What are the specific areas in respect of which auditor gains such understanding?

(4 Marks)

While verifying provisions of advances of a branch of MCO Bank as part af statutory branch audit,
CA Z notices that credit facilities consisting of term loan to KRT Enterprises have been classified
under doubtful asset (D1) category.
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The outstanding balance in above term loan account as on 31.3.2023 is ¥ 50 lakhs. Value of
security held in account is ¥ 40 lakhs. The branch has made provision of ¥7.50 lakhs. Is provision
made by branch proper? Discuss. (4 Marks)

Before commencing the Audit of Local Bodies, a Chartered Accountant employee in firm of XYZ &
Co., firm of Chartered Accountants seeks assistance of Mr. X, partner, in preparation of audit
programme for local bodies. How Mr. X should advise to him in this connection?

(4 Marks)
OR

ABC Ltd. wants to buy some equipment on lease and hence is required to sign lease agreement
with the supplier of the equipment. What are the important points to be considered in the lease

agreement? (4 Marks)

As an auditor, how would you check and verify the receipt of income of NGO? (3 Marks)

Explain treatment of "Advances under Consortium" in the context of Prudential Norms on Asset

Classification pertaining to Advances. (3 Marks)
4
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